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NEW QUESTION 1

Evaluate the following SQL statements that are issued in the given order:

CREATE TABLE emp

(emp_no NUMBER(2) CONSTRAINT emp_emp_no_pk PRIMARY KEY, ename VARCHAR2(15),
salary NUMBER (8,2),

mgr_no NUMBER(2) CONSTRAINT emp_mgr_fk REFERENCES emp(emp_no)); ALTER TABLE emp
DISABLE CONSTRAINT emp_emp_no_pk CASCADE; ALTER TABLE emp

ENABLE CONSTRAINT emp_emp_no_pk;

What would be the status of the foreign key EMP_MGR_PK?

A. It would remain disabled and can be enabled only by dropping the foreign key constraint and recreating it.
B. It would remain disabled and has to be enabled manually using the ALTER TABLE command.

C. It would be automatically enabled and immediate.

D. It would be automatically enabled and deferred.

Answer: B

NEW QUESTION 2
Which three statements are true regarding subqueries?

A. Multiple columns or expressions can be compared between the main query and subquery.
B. Subqueries can contain ORDER BY but not the GROUP BY clause.

C. Main query and subquery can get data from different tables.

D. Subqueries can contain GROUP BY and ORDER BY clauses.

E. Main query and subquery must get data from the same tables.

F. Only one column or expression can be compared between the main query and subquery.

Answer: ACD
Explanation:

References:
http://docs.oracle.com/javadb/10.6.2.1/ref/rrefsqlj13658.html

NEW QUESTION 3
View the Exhibit and examine the structure of the EMPLOYEES and JOB_HISTORY tables. (Choose all that apply.)

HR Jabla ENTS LECATIONS
Namae Null? Type Name Hull?
DEPARTHENT ID NOT NULL |NUMBER(4)
DEPARTHMENT NAME | NOT NULL ] VWARCHAR2(30) STREET_ADDRESS VRRCHAR2(40)
MANAGER ID HUMBER(G POSTAL_CODE VARCHARZ(12)
CITY NOT NULL | VARCHARZ(30)
' STATE PROVINCE WVARCHARZ{2S)
: /I'\ COUNTRY_ID CHAR(Z)
Name Null? Type Name Null?__ [Typa -
EMPLOYEE 1D KROT NULL NUMBER(E) === EMPLOYEE ID NOT RULL |NUMBE RiG)
START _DATE ROT NULL | DATE FIRST_MNAME \'ﬂﬂﬂﬂﬂl{'ﬂi Nama Nudl'? Typa
END DATE NOTNULL [ DATE LAST NAME NOT NULL [VARCHARZ(ZS) I [ COUNTRY_ID NOT NULL | CHAR[Z)
EMAIL NOT NULL | VARCHAR2{25) COUNTRY_NAME VARCHARZ{40)
DEPARTMENT_ID NUMBER(4) PHOME_NUMBER VARCHARZ[30) | REGION_ID NUMBER
HIRE_DATE NOT NULL |DATE = \'I/
e m——— wieecn | [aseneon
| MANAGER 1D NUMBERG] |
Nama Null'? Typé
& DEPARTMENT_ID NUMBER(4) REGION _ID HOT NULL | NUMBER{4)
MIN_SALARY WUMBER[B, REGION_NAME VARCHAR2({4D)
MAX_SALARY NUMBER[S =

Examine this query which must select the employee IDs of all the employees who have held the job SA_MAN at any time during their employment.
SELECT EMPLOYEE_ID FROM EMPLOYEES WHERE JOB_ID ='SA_MAN'

SELECT EMPLOYEE_ID FROM JOB_HISTORY WHERE JOB_ID ='SA_MAN';

Choose two correct SET operators which would cause the query to return the desired result.

A. UNION
B. MINUS
C. INTERSECT
D. UNION ALL

Answer: AD

NEW QUESTION 4
View the Exhibit and examine the details of the PRODUCT _INFORMATION table.
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PRODUCT _NAME CATEGORY ID
Inkjet C/8/HQ
Inkjet C/4
LaserPro b00/B/BEW
LaserPro 1200/8/8W
Inkjet BB
Industrial 700/HD
Industrial 600/DQ
Compact 400/LQ
Compact 400/DQ
HD 12GB /R
HD 10GB /
HD 12GEB @7200 /SE
HD 18.2GB @10000 /E
HD 18.2GB@10000 /1
HD 18GB /SE
HD BGB A
HD 8.2GB @5400

13

SUPPLIER_ID

You have the requirement to display PRODUCT_NAME and LIST_PRICE from the table where the CATEGORYJD column has values 12 or 13, and the

SUPPLIER_ID column has the value 102088. You executed the following SQL statement:
SELECT product_name, list_price FROM product_information

WHERE (category_id = 12 AND category_id = 13) AND supplier_id = 102088; Which statement is true regarding the execution of the query?

A. It would not execute because the entire WHERE clause is not enclosed within parentheses.

B. It would execute but would return no rows.

C. It would not execute because the same column has been used twice with the AND logical operator.
D. It would execute and return the desired.

Answer: B
NEW QUESTION 5

Evaluate this ALTER TABLE statement: (Choose the best answer.) ALTER TABLE orders
SET UNUSED (order_date); Which statement is true?

A. After executing the ALTER TABLE command, a new column called ORDER_DATE can be added to the ORDERS table.

B. The ORDER_DATE column must be empty for the ALTER TABLE command to execute successfully.
C. ROLLBACK can be used to restore the ORDER_DATE column.
D. The DESCRIBE command would still display the ORDER_DATE column.

Answer: A

NEW QUESTION 6

You must display details of all users whose username contains the string 'ch_". (Choose the best answer.) Which query generates the required output?

A. SELECT * FROM users Where user_name LIKE '%ch_’;

B. SELECT * FROM usersWhere user_name LIKE '%ch_%'ESCAPE'%';
C. SELECT * FROM users Where user_name LIKE ‘ch\_%' ESCAPE "' ',
D. SELECT * FROM users Where user_name LIKE '%ch\ %' ESCAPE '\

Answer: B

NEW QUESTION 7
View the Exhibit and examine the structure of the CUSTOMERS and CUST_HISTORY tables.
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CUSTOMERS

Name Null? Type

cCusT ID NOT NULL NUMBER (4)
CUST_NAME VARCHARZ (20)
CUST_ADDRESS VARCHARZ (30)
CUST_CITY VARCHARZ (20)
CUST_HISTORY

Name Null? Type
CUST_ID NOT NULL NUMBER (4)
CUST_ NAME VARCHARZ (20)
CUST_ CITY VARCHARZ2 (20)
CHANGE DATE DATE

The CUSTOMERS table contains the current location of all currently active customers.

The CUST_HISTORY table stores historical details relating to any changes in the location of all current as well as previous customers who are no longer active
with the company.

You need to find those customers who have never changed their address. Which SET operator would you use to get the required output?

A. INTERSECT
B. UNION ALL
C. MINUS
D. UNION

Answer: C

NEW QUESTION 8

View the Exhibit and examine the structure of ORDERS and ORDER_ITEMS tables.

ORDER_ID is the primary key in the ORDERS table. It is also the foreign key in the ORDER_ITEMS table wherein it is created with the ON DELETE CASCADE
option.

Which DELETE statement would execute successfully?

houll 7
NOT NULL | TIMESTAMPYS)
THLOCALTIMEZONE [E0ST ADOWESS | CUST_ADORESS_TYP
= ud PHONE_NUNBERS PHONE LIST_TYP
LS LANGUAGE WARC HARZ(1)
(WS, TERMITONY VARC HARZ(30)
Lt T
NUMBER(S TREDIT LMIT NUMBE R{S.7)
' [CUST_EWAIL VARCHARZ(S)
) ACCOUNT MGR 1D WUMBE RS
CUST GED_LOCATION WDSYS 500 _GEOMETRY
DATE
MAR TAL STATUS VARC
VARCHARZ(1)
[INCOME_LEVEL VARCHARZ(I0

VARCHARI(IS)

LT
WH_GEO_LOCATION] MOSYS 800 _GEOMETHY]

A. DELETE orders o, order_items IWHERE o.order_id = i.order_id;

B. DELETEFROM ordersWHERE (SELECT order_idFROM order_items);
C. DELETE ordersWHERE order_total < 1000;

D. DELETE order_idFROM ordersWHERE order_total < 1000;

Answer: B

NEW QUESTION 9

You want to display 5 percent of the rows from the SALES table for products with the lowest AMOUNT_SOLD and also want to include the rows that have the
same AMOUNT_SOLD even if this causes the output to exceed 5 percent of the rows.
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Which query will provide the required result?

A. SELECT prod_id, cust_id, amount_soldFROM salesORDER BY amount_soldFETCH FIRST 5 PERCENT ROWS WITH TIES;

B. SELECT prod_id, cust_id, amount_soldFROM salesORDER BY amount_soldFETCH FIRST 5 PERCENT ROWS ONLY WITH TIES;
C. SELECT prod_id, cust_id, amount_soldFROM salesORDER BY amount_soldFETCH FIRST 5 PERCENT ROWS WITH TIES ONLY;
D. SELECT prod_id, cust_id, amount_soldFROM salesORDER BY amount_soldFETCH FIRST 5 PERCENT ROWS ONLY;

Answer: A
NEW QUESTION 10

View the exhibit for the structure of the STUDENT and FACULTY tables. STUDENT
NameNull?Type

STUDENT_IDNOT NULLNUMBER(2) STUDENT_NAMEVARCHAR2(20) FACULTY_IDVARCHAR2(2)
LOCATION_IDNUMBER(2) FACULTY
NameNull?Type

FACULTY_IDNOT NULLNUMBER(2) FACULTY_NAMEVARCHAR2(20) LOCATION_IDNUMBER(2)
You need to display the faculty name followed by the number of students handled by the faculty at the base location.

Examine the following two SQL statements: Statement 1

SQL>SELECT faculty_name, COUNT(student_id) FROM student JOIN faculty

USING (faculty _id, location_id) GROUP BY faculty _name; Statement 2

SQL>SELECT faculty_name, COUNT(student_id)

FROM student NATURAL JOIN faculty GROUP BY faculty_name;

Which statement is true regarding the outcome?

A. Only statement 2 executes successfully and gives the required result.

B. Only statement 1 executes successfully and gives the required result.

C. Both statements 1 and 2 execute successfully and give different results.

D. Both statements 1 and 2 execute successfully and give the same required result.

Answer: B

NEW QUESTION 10
Which two tasks can be performed by using Oracle SQL statements?

A. changing the password for an existing database user

B. connecting to a database instance

C. querying data from tables across databases

D. starting up a database instance

E. executing operating system (OS) commands in a session

Answer: AC

Explanation:

References:
http://www.techonthenet.com/oracle/password.php
https://docs.oracle.com/cd/B28359_01/server.111/b28324/tdpii_distdbs.htm

NEW QUESTION 12
View the Exhibit and examine the structure of the ORDERS table.

Tirpee
(NUMBERS)
CUST FiRST WAME  [noT NULL | vARCHARZ(I0)
CUST_LAST NAME  INOT NULL | WARCHARZ(20)
_ R - UST_A -] CUST ADDRESS TYP
st G b : PHONE NUMBERS PHONE LIST TYP
LINE _ITEM IDNOT NULLNUMBE R{3) i T v
- S heTiia: e ] ::: LANGUAGE nncumqi
_._ﬁ'-“i';mn W““m [GROER TOTAL NUMBERS 3) [CREDT_LmiiT NUMBER( 2)
GUAN e [SKCES_REP 0 NUMBERS) [CUST_EMAIL VARCHARZ(M) |
Y [ PROETTION_ID NUMBERG) ACCOUNT_MGR_ID WUMBE R
- CUST_GEO_LOCATION MDSYS.S00 GEOMETRY
4 TH DATE
Tatie PRODUCT MARITAL STATUS VAT HARLI )
B ¥ GENDER WARCHARZ(1)
INCOME_LEVEL WARC AAR 20
PRODUCT_NAME WRRCHARTIS)
[PRODUCT_DESC P TION VARC HA R 2000}
CATEGORY_ID NUMBER{T)
(WEIGHT _CLASS NUMBER(1)
WARMANTY _PERIOD INTERVALYEAR(T) L]
TOMONTH NOT NULL
[SUPPLIER_ID NUMBERIS) NOT NULL
PRODUCT STATUS VAHC WA RN NOT NULL
LiST_PRICE NUMBER(BR.I)
(MiW_PRICE NUMBERLD)
CATALOG_URL VRRCHARNS)) . —
NTITY_ON_HAND : — |srsxuirveE
WAREHOUSE_NAME WARCHARLS)
LOCATION_ID ML BE F4)
WH_OED_LOCATION] MOSYS SDO_GEOMETRY]

Which UPDATE statement is valid?
A. UPDATE ordersSET order_date = '12-mar-2007’,order_total IS NULLWHERE order_id = 2455;

B. UPDATE ordersSET order_date ='12-mar-2007',AND order_total = TO_NUMBER(NULL)WHERE order_id = 2455;
C. UPDATE ordersSET order_date ='12-mar-2007’,order_total = NULLWHERE order_id = 2455;
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D. UPDATE ordersSET order_date = TO_DATE('12-mar-2007’,’dd-mon-yyyy"),SET order_total = TO_NUMBER (NULL)WHERE order_id = 2455;

Answer: C

NEW QUESTION 14

Evaluate the following SQL statement:

SQL> select cust_id, cust_last_name "Last name" FROM customers

WHERE country_id = 10 UNION

SELECT cust_id CUST_NO, cust_last name FROM customers

WHERE country_id = 30

Identify three ORDER BY clauses either one of which can complete the query.

A. ORDER BY "Last name"
B. ORDER BY 2, cust_id
C. ORDER BY CUST_NO
D. ORDER BY 2,1

E. ORDER BY "CUST_NO"

Answer: ABD

Explanation:

Using the ORDER BY Clause in Set Operations

-The ORDER BY clause can appear only once at the end of the compound query.

-Component queries cannot have individual ORDER BY clauses.

-The ORDER BY clause recognizes only the columns of the first SELECT query.

-By default, the first column of the first SELECT query is used to sort the output in an ascending order.

NEW QUESTION 19

Examine the structure of the EMPLOYEES table. NameNull?Type

EMPLOYEE_IDNOT NULLNUMBER(6) FIRST_NAMEVARCHAR2(20) LAST_NAMENOT NULLVARCHAR2(25) EMAILNOT
NULLVARCHARZ2(25) PHONE NUMBERVARCHAR2(20) HIRE_DATENOT NULLDATE JOB_IDNOT NULLVARCHARZ2(10) SALARYNUMBER(8,2)
COMMISSION_PCTNUMBER(2,2) MANAGER_IDNUMBER(6) DEPARTMENT_IDNUMBER(4)

There is a parent/child relationship between EMPLOYEE_ID and MANAGER_ID.

You want to display the last names and manager IDs of employees who work for the same manager as the employee whose EMPLOYEE_ID is 123.
Which query provides the correct output?

A. SELECT e.last_name, m.manager_idFROM employees e RIGHT OUTER JOIN employees mon (e.manager_id = m.employee_id)AND e.employee_id = 123;
B. SELECT e.last_name, m.manager_idFROM employees e RIGHT OUTER JOIN employees mon (e.employee_id = m.manager_id)WHERE e.employee_id =
123;

C. SELECT e.last_name, e.manager_idFROM employees e RIGHT OUTER JOIN employees mon (e.employee_id = m.employee_id)WHERE e.employee_id =
123;

D. SELECT m.last_name, e.manager_idFROM employees e LEFT OUTER JOIN employees mon (e.manager_id = m.manager_id)WHERE e.employee_id = 123;

Answer: B

NEW QUESTION 20
Which three SQL statements would display the value 1890.55 as $1,890.55? (Choose three.)

A. SELECT TO_CHAR (1890.55, '$99G999D00") FROM DUAL
B. SELECT TO_CHAR (1890.55, '$9,999V99") FROM DUAL;

C. SELECT TO_CHAR (1890.55, '$0G000D00") FROM DUAL;
D. SELECT TO_CHAR (1890.55, '$99,999D99") FROM DUAL;
E. SELECT TO_CHAR (1890.55, '$99G999D99') FROM DUAL

Answer: ACE
NEW QUESTION 23

Examine the structure of the MEMBERS table: NameNull?Type
MEMBER_IDNOT NULLVARCHAR?2 (6)

FIRST _NAMEVARCHAR?2 (50)

LAST_NAMENOT NULLVARCHAR?2 (50)

ADDRESSVARCHAR?2 (50)

CITYVARCHAR?Z (25)

STATEVARCHAR?2 (3)

You want to display details of all members who reside in states starting with the letter A followed by exactly one character.
Which SQL statement must you execute?

A. SELECT * FROM MEMBERS WHERE state LIKE '%A_*,
B. SELECT * FROM MEMBERS WHERE state LIKE 'A_*;
C. SELECT * FROM MEMBERS WHERE state LIKE 'A_%";
D. SELECT * FROM MEMBERS WHERE state LIKE 'A%

Answer: B

NEW QUESTION 28
View the Exhibit and examine, the description for the SALES and CHANNELS tables. (Choose the best answer.)
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PR [IST_PRCE ROT RULL | NOMBERES) i el pNOTHIL N
PROT_HIN_PRICE ROT WULL || NUMBEF8_Z) ;
[
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i [rabie cusTONERS
i ame Ruir? Type
b~ JCusT D NOT NULL
CUST_FIRST_NAME KOT NULL | VARCHARZ (28]
EUET LAST NAWE NOT NULL| VARCHARZ (40)
':'u'l'af'-&s 7] NOT NULL| CHAR (1]
CUST_YEAR_OF_BIRTH | NOT NULL | NUMBER (4)
EUST MARITIAL STATUS VARCHARZ {20] — - Juuiz___Type
EUT E‘fEH‘ DRESS | NOT NULL | VARCHARZ {40 -
cuaf_m"rm%i NOT NULL | VARCHARZ {16) 1 JCOUNTRY NAME _INGY MULUIVARCHARD(40) |
L : ot 1 [|couniry REGioN ot VARCHARZ(Z0)
SN T ST FRENEE NOT NULL | VARCHARZ {30} | [COURTRY_TOTAL [nor wuLL[VARCHARZIH)
COUNTRY_ID NOT NULL | NUNBER e =
CUST_INGOME_LEVEL VAREHARE (30
CUST_CREDIT_LINIT NUMBER
EUST EMAIL VARCHARZ (38)

You issued this SQL statement:

INSERT INTO SALES VALUES (23, 2300, SYSDATE, (SELECT CAHNNEL_ID
FROM CHANNELS

WHERE CHANNEL_DESC='DIRECT SALES"), 12, 1, 500);

Which statement is true regarding the result?

A. The statement will fail because the sub-query in the VALUES clause is not enclosed within single quotation marks.
B. The statement will fail because a subquery cannot be used in a VALUES clause.

C. The statement will execute and a new row will be inserted in the SALES table.

D. The statement will fail because the VALUES clause is not required with the subquery.

Answer: C

NEW QUESTION 30
View the exhibit and examine the structure of the SALES, CUSTOMERS, PRODUCTS and TIMES tables.
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Null T i
1
NAME NOT NULL | VARCHAR2(80) ]
Kame Hult?
FROD._DESC NOT NULL | VARCHARZ(4000]| RIS
PROD_CATEGORY NOT NULL || VARCHARZIS0) | CHAN DESC HOT RULL] vARCHA
CA i0 NOT MULL | NUMBER EH.H.HHEI.. CLASS NOT MULL] VARC
e LI e
FROD, UNIT OF M EASURE s .."E_;‘."":._.".";._.”_EEL. CHANNEL_CLASS_ID | NOT NULL] NUMBER
5 :g: ﬁtt &R::‘“::Jm, cumuﬂ_b_;nmh NOT NULL] VARCHARZ 13
thm_ﬂ! o TR R CHARNEL_TOTALID | NOT NULL] NUMBER
PROD_WIN_PRGCE  |NOT NULL | NUMBEFB.2)

Table CUSTOMERS
o Mull¥ Type
= ={CUST_ID NOTNULL) NUMBER
CUST_FIRST_NAME NOT NULL | VARCHARS (2%)
CUST_LAST NAME KOT NULL | vaRCHARZ (40)
CUST_GEM MOT NULL | SHAR (1)
CUST_YEAR_OF_BIRTH | NOT NULL | NUMBER (4)
CUST MARITIAL STATUS VARCHARZ (28] ] ] Juunz __JType
CUST_STREET ADDRESS| NOT NULL | VARCHARS (48)
CUST_POSTAL E HOT NULL | vaRCHARZ {10) I o [HOT MULLJVARCHAR3 {40
o NOTNULL] i COUNTHRY_HREGE NOT MULLIVARCHARZ{ID)
CUST STATE PROVINCE | o7 NyLL] 1 |SouNTRY_TOTAL uot muLL|VARCHARZ(1)
T N e nEE—
MOT NULL| i

COUNTRY
CUST_NCOME_LEVEL
CUST_CREDIT_LIMIT
CUST_EMAIL

The PROD_ID column is the foreign key in the SALES table referencing the PRODUCTS table.

The CUST_ID and TIME_ID columns are also foreign keys in the SALES table referencing the CUSTOMERS and TIMES tables, respectively.
Examine this command:

CREATE TABLE new_sales (prod_id, cust_id, order_date DEFAULT SYSDATE)

AS

SELECT prod_id, cust_id, time_id FROM sales;

Which statement is true?

A. The NEW_SALES table would get created and all the FOREIGN KEY constraints defined on the selected columns from the SALES table would be created on
the corresponding columns in the NEW_SALES table.

B. The NEW_SALES table would not get created because the column names in the CREATE TABLE command and the SELECT clause do not match.

C. The NEW_SALES table would not get created because the DEFAULT value cannot be specified in the column definition.

D. The NEW_SALES table would get created and all the NOT NULL constraints defined on the selected columns from the SALES table would be created on the
corresponding columns in the NEW_SALES table.

Answer: D

NEW QUESTION 35
View the Exhibit and examine the structure of the SALES and PRODUCTS tables. (Choose two.)

SALES

Name Null? Type
PROD ID NOT NULL NUMBER (3)
CUST ID NOT NULL NUMBER (4)

TLMs LD DATE

QTY SOLD NUMBER (10, 2)
PRODUCTS

Name Null? Type

B T e — R T, . S

PROD ID NOT NULL NUMBER(3)
PROD NAME VARCHARZ (30)
PROD LIST PRICE NUMBER (8, 2)
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In the SALES table, PROD_ID is the foreign key referencing PROD _ID in the PRODUCTS table. You must list each product ID and the number of times it has

been sold.

Examine this query which is missing a JOIN operator: SQL > SELECT p.prod_id, count(s.prod_id)
FROM products p sales s ON p.prod_id = s.prod_id

GROUP BY p.prod_id;

Which two JOIN operations can be used to obtain the required output?

A. FULL OUTER JOIN
B. JOIN

C. LEFT OUETR JOIN
D. RIGHT OUTER JOIN

Answer: AC

NEW QUESTION 37

Which two statements are true regarding the EXISTS operator used in the correlated subqueries? (Choose two.)
A. The outer query stops evaluating the result set of the inner query when the first value is found.

B. It is used to test whether the values retrieved by the inner query exist in the result of the outer query.
C. Itis used to test whether the values retrieved by the outer query exist in the result set of the inner query.

D. The outer query continues evaluating the result set of the inner query until all the values in the result set are processed.

Answer: AC

Explanation:
References:
http://www.techonthenet.com/oracle/exists.php

NEW QUESTION 40
Which three statements are true regarding the data types?

A. The minimum column width that can be specified for a VARCHAR2 data type column is one.

B. Only one LONG column can be used per table.

C. ATIMESTAMP data type column stores only time values with fractional seconds.

D. The BLOB data type column is used to store binary data in an operating system file.

E. The value for a CHAR data type column is blank-padded to the maximum defined column width.

Answer: ABE
NEW QUESTION 42

Examine the business rule:
Each student can work on multiple projects and each project can have multiple students.

You need to design an Entity Relationship Model (ERD) for optimal data storage and allow for generating reports in this format:

STUDENT_ID FIRST_NAME LAST_NAME PROJECT_ID PROJECT_NAME PROJECT_TASK
Which two statements are true in this scenario?

A. The ERD must have a 1:M relationship between the STUDENTS and PROJECTS entities.

B. The ERD must have a M:M relationship between the STUDENTS and PROJECTS entities that must be resolved into 1:M relationships.

C. STUDENT_ID must be the primary key in the STUDENTS entity and foreign key in the PROJECTS entity.
D. PROJECT_ID must be the primary key in the PROJECTS entity and foreign key in the STUDENTS entity.

E. An associative table must be created with a composite key of STUDENT _ID and PROJECT _ID, which is the foreign key linked to the STUDENTS and

PROJECTS entities.
Answer: BE
Explanation:

References:
http://www.oracle.com/technetwork/issue-archive/2011/11-nov/061sql-512018.html

NEW QUESTION 44
Which two statement are true regarding table joins available in the Oracle Database server? (Choose two.)

A. You can use the ON clause to specify multiple conditions while joining tables.
B. You can explicitly provide the join condition with a NATURAL JOIN.

C. You can use the JOIN clause to join only two tables.

D. You can use the USING clause to join tables on more than one column.
Answer: AD

NEW QUESTION 46
View the exhibit and examine the structure in ORDERS and ORDER_ITEMS tables.
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You need to create a view that dlsplays the ORDER ID, ORDER DATE and the total number of items in each order.
Which CREATE VIEW statement would create the views successfully?

A. CREATE OR REPLACE VIEW ord_vuAS SELECT o.order_id, o.order_date, COUNT (i.line_item_id)FROM orders o JOIN order_items iON (o.order_id =
i.order_id)GROUP BY o.order_id, o.order_date;

B. CREATE OR REPLACE VIEW ord_vu (order_id, order_date)AS SELECT o.order_id, o.order_date, COUNT (i.line_item_id)"NO OF ITEMS"FROM orders o
JOIN order_items iON (o.order_id = i.order_id)GROUP BY o.order_id, o.order_date;

C. CREATE OR REPLACE VIEW ord_vuAS SELECT o.order_id, o.order_date, COUNT (i.line_item_id)"NO OF ITEMS"FROM orders o JOIN order_items iON
(o.order_id = i.order_id)GROUP BY o.order_id, o.order_date;

D. CREATE OR REPLACE VIEW ord_vuAS SELECT o.order_id, o.order_date, COUNT (i.line_item_id)||"NO OF ITEMS"FROM orders o JOIN order_items iON
(o.order_id = i.order_id)GROUP BY o.order_id, o.order_dateWHITH CHECK OPTION;

Answer: C

NEW QUESTION 48

Evaluate the following CRTEATE TABLE commands:

CREATE_TABLE orders

(ord_no NUMBER (2) CONSTRAINT ord_pk PRIMARY KEY,

ord_date DATE, cust_id NUMBER (4) );

CREATE TABLE ord_items (ord _no NUMBER (2),

item_no NUMBER(3),

gty NUMBER (3) CHECK (qty BETWEEEN 100 AND 200),

expiry_date date CHECK (expiry_date> SYSDATE), CONSTRAINT it_pk PRIMARY KEY (ord_no, item_no),

CONSTARAINT ord_fk FOREIGN KEY (ord_no) REFERENCES orders (ord_no) ); Why would the ORD_ITEMS table not get created?

A. SYSDATE cannot be used with the CHECK constraint.

B. The BETWEEN clause cannot be used for the CHECK constraint.

C. The CHECK constraint cannot be placed on columns having the DATE data type.

D. ORD_NO and ITEM_NO cannot be used as a composite primary key because ORD_NO is also the FOREIGN KEY.

Answer: A

NEW QUESTION 49

You execute the following commands: SQL > DEFINE hiredate = '01-APR-2011"'
SQL >SELECT employee_id, first_name, salary FROM employees

WHERE hire_date > '&hiredate’ AND manager_id >&mgr_id;

For which substitution variables are you prompted for the input?

A. none, because no input required

B. both the substitution variables "hiredate' and ‘'mgr_id'.
C. only hiredate'

D. only 'mgr_id'

Answer: D

NEW QUESTION 54
Which three statements are true reading subquenes?

A. A Main query can have many subqueries.

B. A subquery can have more than one main query.

C. The subquery and main query must retrieve date from the same table.

D. The subquery and main query can retrieve data from different tables.

E. Only one column or expression can be compared between the subquery and main query.
F. Multiple columns or expressions can be compared between the subquery and main query.

Answer: ADF
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NEW QUESTION 57
Which two statements are true regarding constraints?

A. A table can have only one primary key and one foreign key.

B. A table can have only one primary key but multiple foreign keys.

C. Only the primary key can be defined at the column and table levels.

D. The foreign key and parent table primary key must have the same name.

E. Both primary key and foreign key constraints can be defined at both column and table levels.

Answer: BE

NEW QUESTION 61
View the Exhibit and examine the structure of the CUSTOMERS table.

Null?
NOT NULL
NOT NULL
NOT NULL
NOT NULL
NOT NULL

ame
CUST_ID
CUST_FIRST_NAME
CUST_LAST_NAME
CUST_GENDER
CUST_YEAR_OF_BIRTH
CUST_MARITIAL_STATUS
CUST_STREET_ADDRESS
CUST_POSTAL_CODE
CUST_CITY
CUST STATE _PROVINCE
COUNTRY_ID
CUST_INCOME_LEVEL
CUST_CREDIT_LIMIT NUMBER
CUST_EMAIL VARCHARZ (30) |

Using the CUSTOMERS table, you must generate a report that displays a credit limit increase of 15% for all customers.
Customers with no credit limit should have “Not Available” displayed. Which SQL statement would produce the required result?

Type
NUMBER
VARCHAR2 (20)
VARCHAR2 (40)
CHAR (1) {
NUMBER (4)
VARCHARZ (20)
VARCHARZ (40
VARCHARZ2 (10)
VARCHAR2Z (30)
VARCHAR2 (40)
NUMBER 1
VARCHARZ (30)

NOT NULL
NOT NULL
NOT NULL
NOT NULL
NOT NULL

A. SELECT NVL (TO_CHAR(cust_credit_limit*.15), ‘Not Available’) “NEW CREDIT” FROM customers
B. SELECT TO_CHAR(NVL(cust_credit_limit*.15), ‘Not Available’)) “NEW CREDIT” FROMcustomers
C. SELECT NVL (cust_credit_limit*.15, ‘Not Available’) “NEW CREDIT” FROM customers
D. SELECT NVL (cust_credit_limit, ‘Not Available”)*.15 “NEW CREDIT” FROM customers

Answer: C

NEW QUESTION 65
Which two partitioned table maintenance operations support asynchronous Global Index Maintenance in Oracle database 12c¢?

A. ALTER TABLE SPLIT PARTITION

B. ALTER TABLE MERGE PARTITION

C. ALTER TABLE TRUNCATE PARTITION
D. ALTER TABLE ADD PARTITION

E. ALTER TABLE DROP PARTITION

F. ALTER TABLE MOVE PARTITION

Answer: CE

NEW QUESTION 69

Examine the types and examples of relationship that follows: (Choose the best answer.)
1 One-to-one a) teacher to Student

2 One-to-many b) Employees to Manager

3 Many-to-one c) Person to SSN

4 Many-to-many d) Customers to Products

Which option indicates correctly matched relationships?

A. 1-d, 2-b, 3-a, and 4-c
B. 1-c, 2-d, 3-a, and 4-b
C. 1-a, 2-b, 3-c, and 4-d
D. 1-c, 2-a, 3-b, and 4-d

Answer: C

NEW QUESTION 70

Which two statements best describe the benefits of using the WITH clause? (Choose two.)

A. It can improve the performance of a large query by storing the result of a query block having the WITH clause in the session's temporary tablespace.
B. It enables sessions to reuse the same query block in a SELECT statement, if it occurs more than once in a complex query.

C. It enables sessions to store a query block permanently in memory and use it to create complex queries.
D. It enables sessions to store the results of a query permanently.
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Answer: AB

NEW QUESTION 75
Which two statements are true regarding multiple-row subqueries? (Choose two.)

A. They can contain group functions.

B. They always contain a subquery within a subquery.

C. They use the < ALL operator to imply less than the maximum.

D. They can be used to retrieve multiple rows from a single table only.

E. They should not be used with the NOT IN operator in the main query if NULL is likely to be a part of the result of the subquery.

Answer: AE
NEW QUESTION 77

View the exhibit and examine the structure of the STORES table. STORES table
NameNull?Type

STORE_IDNUMBER NAMEVARCHAR2(100)

ADDRESSVARCHAR2(200) CITYVARCHAR2(100) COUNTRYVARCHAR2(100) START_DATEDATE END_DATEDATE PROPERTY_PRICENUMBER

You want to display the NAME of the store along with the ADDRESS, START_DATE, PROPERTY_PRICE, and the projected property price, which is 115% of
property price.

The stores displayed must have START_DATE in the range of 36 months starting from 01-Jan-2000 and above.

Which SQL statement would get the desired output?

A. SELECT name, concat (address| | *,'| [city| |', ', country) AS full_address,start_date,property_price, property_price*115/100FROM storesWHERE
MONTHS_BETWEEN (start_date, '01-JAN-2000")<=36;

B. SELECT name, concat (address| | .| |city| |', ', country) AS full_address,start_date,property_price, property_price*115/100FROM
storesWHERETO_NUMBER(start_date-TO_DATE('01-JAN-2000','DD-MON-RRRR?")) <=36;

C. SELECT name, address||','||city||','||country AS full_address,start_date,property_price, property_price*115/100FROM storesWHERE MONTHS_BETWEEN
(start_date, TO_DATE('01-JAN-2000','DD-MON-RRRR?")) <=36;

D. SELECT name, concat (address||',| |city] |', ', country) AS full_address,start_date,property_price, property_price*115/100FROM storesWHERE
MONTHS_BETWEEN (start_date, TO_DATE('01-JAN-2000','DD-MON-RRRR")) <=36;

Answer: D

NEW QUESTION 81
Which three statements are true about multiple-row subqueries?

A. They can contain a subquery within a subquery.

B. They can return multiple columns as well as rows.

C. They cannot contain a subquery within a subquery.

D. They can return only one column but multiple rows.

E. They can contain group functions and GROUP BY and HAVING clauses.

F. They can contain group functions and the GROUP BY clause, but not the HAVING clause.

Answer: ABE

NEW QUESTION 85
Which three statements are true regarding the usage of the WITH clause in complex correlated subqueries: (Choose three.)

A. It can be used only with the SELECT clause.

B. The WITH clause can hold more than one query.

C. If the query block name and the table name are the same, then the table name takes precedence.

D. The query name in the WITH clause is visible to other query blocks in the WITH clause as well as to the main query block

Answer: ABD

NEW QUESTION 89

A non-correlated subquery can be defined as . (Choose the best answer.)

A. A set of one or more sequential queries in which generally the result of the inner query is used as the search value in the outer query.
B. A set of sequential queries, all of which must return values from the same table.

C. A set of sequential queries, all of which must always return a single value.

D. A SELECT statement that can be embedded in a clause of another SELECT statement only.

Answer: A

NEW QUESTION 91
View the Exhibit and examine the description of the EMPLOYEES table.
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E
HR Namao Null? Nam&
[DEPARTIENT ID | NOT NULL
DEPARTMENT_NAME | NOT NULL STREET_ADDRESS VARCHARZ2{40)
[POSTAL_CODE VARCHARZ{13) |
CITY NOT NULL | VARCHARZ(30)
- STATE PROVINCE VARCHARZ{25)
/*\ COUNTRY_ID CHARZ)
[ Table JOB WISTORY ____ - \!/
Name Nuli? Type Narma Null’? Typa i
EMPLOYEE ID NOTNULL | NUMBER(S) | === EWPLOYEE ID NOT NULL |NUMBER(E)
START_DATE NOT NULL | DATE FIRST_MAME [VARCHAR2[Z0) >-l Name Null?
END_DATE NOTNULL | DarTE [LAST_NAME NOT NULL | VARCHARZ[25) [COUNTRY 1D |NOT NULL | CHAR{Z) |
m EMAIL NOT NULL [VARCHARZ(25) ] = = * COUNTRY_NAME VARCHARZ{40)
DEPARTMENT_ID NUMBER(4) PHONE_WUMBER VARGHARZ[20} | REGION_ID NUMBER
HIRE_DATE NOT NuLL [paTe = \I/
| SALARY NUMBER(S 2) '
NRama Null? Sy _< ﬂﬂﬂﬂﬂi PCT HHEEEE&II_
| MANAGER 1D NUMBERIE) Namo (e Type
& OEPARTRENT D HINAEN REGION_ID NOT NULL | NUMBER(4]
WIN_SALARY NUMBER[E REGION_MAME VARCHAR2(4D)
MAX_SALARY NUMBER(S o=

You want to calculate the total renumeration for each employee. Total renumeration is the sum of the annual salary and the percentage commission earned for a

year. Only a few employees earn commission.
Which SQL statement would you execute to get the desired output?

A. SELECT first_name, salary, salary*12+(salary*NVL2 (commission_pct, salary,salary+commission_pct))“Total’FROM EMPLOYEES;

B. SELECT first_name, salary, salary*12+salary*commission_pct “Total’FROM EMPLOYEES;
C. SELECT first_name, salary (salary + NVL (commission_pct, 0)*salary)*12 “Total’FROM EMPLOYEES,;
D. SELECT first_name, salary*12 + NVL(salary,0)*commission_pct, “Total’FROM EMPLOYEES;

Answer: A

NEW QUESTION 93
View the Exhibit and examine the structure of the PRODUCTS table. (Choose the best answer.)

TablePRODUCTS
_ Null? _

FH'DD HlIIE
PROD_DESC

HUT H‘ULL
NOT NULL

VARCHAR2(50)
VARCHAR2(4000)

PROD_CATEGORY NOT NULL | VARCHAR2(50)
PROD_CATEGORY_ID NOT NULL | NUMBER
PROD _UNIT_OF MEASURE VARCHARZ2(20)
SUPPUER_IC NOT NULL | NUMBER[8)
PROD_STATUS NOT NULL | VARCHAR2(20)
PROD_ [NOT NULL | NUMBER(S,2)
PROD_WIN_P NOT NULL | NUMBER{S,2)

You must display the category with the maximum number of items.
You issue this query:

SQL > SELECT COUNT(*), prod_category_id FROM products
GROUP BY prod_category_id

HAVING COUNT(*) = (SELECT MAX(COUNT(*)) FROM porducts);
What is the result?

A. It generates an error because = is not valid and should be replaced by the IN operator.
B. It executes successfully but does not give the correct output.

C. It executes successfully and gives the correct output.

D. It generate an error because the subquery does not have a GROUP BY clause.

Answer: D

NEW QUESTION 98
Examine the structure of the BOOKS_ TRANSACTIONS table:

Name

g e e 'Hull? Tm

m:g: ':'EP'E NOT NULL VARCHAR2 (6)

BORROWED DATE Eﬁmm

S e DATE

m“_nmr VARCHAR2 (6)
ok VARCHAR? (6)

Examine the SQL statement:

‘SQL> SELECT * FROM books _transactions WHERE borrowed _date<SYSDATE AND
("A101', 'A102');
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Which statement is true about the outcome?

A. It displays details only for members who have borrowed before today with RM as TRANSACTION_TYPE.

B. It displays details for members who have borrowed before today's date with either RM asTRANSACTION_TYPE or MEMBER_ID as A101 and A102.
C. It displays details for only members A101and A102 who have borrowed before today with RM as TRANSACTION_TYPE.

D. It displays details for members who have borrowed before today with RM as TRANSACTION_TYPE and the details for members A101 or A102.

Answer: A

NEW QUESTION 102
View the exhibit and examine the structure of the SALES, CUSTOMERS, PRODUCTS and TIMES tables.

SH e ————————————
L]
b ’-
- e 7 = !  Tabie THAES
| = = RGO  NOT HULLINUMBERI] ~ -7 & = D
[ 1 PROMD_MAME NOT MULLY vARCHAR2(20) -  pepy—y
i A = H 1 [oAY_MAME VAR HARI(E)
i I PROMO_SUBCATEGORY | NOT NULL|VARCHARZ(30) I 1 [DoAV NUWBER TN WOHTH NUMBERZ
i FROMO_SUBCATEGORY 10| MOT NULL] NUMBER - =  MUMBERIZ)
i FROME, CAT NGT NULL] VARCHARZ [ |CALENDAR WEER NUWBER
i Mttt S i1 [CALENDAR_MONTH_NUMBER |noT oL | NUMBER}2)
- T
i PROMD BEGIN DATE : 1 i |CALENDAR_YEAR NOT NULL] NUMBERL)
N NOT NULL|DATE P =
: : PROMD_END_DATE MOT NULL]DATE ! 1
iy : ]
i 1 :
iy (1 1
s i |
t -.-' = L] []
. i a1 ¥ L . L ] E '
i CHANNEL_ID [NOT NULLYNLUWBE - 1 i
i UNIT COST  INOT NULL|NUMBER{10,2) =] by I
- UNIT_PRICE | NOT NULL|NUMBER{10.7) 1S 1
1 LY .
1 ! o
- 1 =
i ¥ i
1 1
1 1y i
i [mbieProDucTs i 1
L]
i T Rl T l’u I
L 4 i
PROD_MAWE NOT NULL | VARCHAR2(S0) - plabie iy e 1
F e L} Nama Nult?
[FROD_DESC NOT NULL | VARCHARZ(8006]] 4 3 g
PROD_CATEGORY 1
X NOT WuLL [VARCHARZ(SO) | ¥ CANEL DEOC e TR (P
FROD_CATEGORY 0 HOT NULL | NUMBER T e - s
PROC_UNIT_OF_MEASURE WARCHARZ(20) : ““mm:;cﬁm [ :g‘ :Eﬂ,ul: :t::i: i
SUPPLIER_ID TN [l i =
R EETUR NOT HULL | NUMBE FiB) - CHARNEL_TOTAL | NOT NuLL| VARCHARZ{13)]
E NOT NULL | VARCHARI(20) i CHANNEL_TGTAL_ID | NOT KULL] NUMBER
PROD_LIST_PRIGE NOT MULL | NUMBE Fus._2) i = =
PROD_WIN_PFRCE NOT MULL || NUMBEF{B_2) ;
]
1
]
1
i [fable cusToMERS
1 [Rame uir? Type
L_Jcust o NOTHULLY WUMBER
CUST_FIRST_NAME WOT NULL | vARCHARZ (20)
EUST_LAST NAME NOT NULL| VARCHARZ (48}
CUST_GEMDER NOT WULL | CHAR (1) [ ————
CUST_VEAR_OF_BIRTH | NOT NULL | NUMBER (1)
EUST MARITIAL STATUS VARCHARZ (20 . Jiuiz I““'m
CUST_BTRELT ADDRESS | MOT MULL | VARCHARZ (40 -
T TIE e e e
T o fuseania] | [coom i forwulwossn
CUST_CiTY KOT ML | VARCHARS (10) | H - =
[CUST_STATE_PROVINCE | NOT NULL y CDNTRITOWL JOT NULLTATHARR 1)
COUNTRY_ID WOT KULL | NUMBER e =
CUST_INCOME_LEVEL VARCHARZ (30)
CUST_CREDIT_LIMIT NUMBER
EUST_ERAIL VARCHARZ (30}

The PROD_ID column is the foreign key in the SALES tables, which references the PRODUCTS table.

Similarly, the CUST_ID and TIME_ID columns are also foreign keys in the SALES table referencing the CUSTOMERS and TIMES tables, respectively.
Evaluate the following CREATE TABLE command:

CREATE TABLE new_sales (prod_id, cust_id, order_date DEFAULT SYSDATE)

AS

SELECT prod_id, cust_id, time_id FROM sales;

Which statement is true regarding the above command?

A. The NEW_SALES table would get created and all the NOT NULL constraints defined on the specified columns would be passed to the new table.

B. The NEW_SALES table would not get created because the DEFAULT value cannot be specified in the column definition.

C. The NEW_SALES table would not get created because the column names in the CREATE TABLE command and the SELECT clause do not match.
D. The NEW_SALES table would get created and all the FOREIGN KEY constraints defined on the specified columns would be passed to the new table.

Answer: A

NEW QUESTION 106
You issue the following command to drop the PRODUCTS table: (Choose all that apply.) SQL > DROP TABLE products;
Which three statements are true about the implication of this command?

A. All data along with the table structure is deleted.

B. A pending transaction in the session is committed.

C. All indexes on the table remain but they are invalidated.

D. All views and synonyms on the table remain but they are invalidated.
E. All data in the table is deleted but the table structure remains.

Answer: ABD

NEW QUESTION 108
The user SCOTT who is the owner of ORDERS and ORDER_ITEMS tables issues the following GRANT command:
GRANT ALL
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ON orders, order_items TO PUBLIC;
What correction needs to be done to the above statement?

A. PUBLIC should be replaced with specific usernames.

B. ALL should be replaced with a list of specific privileges.

C. WITH GRANT OPTION should be added to the statement.

D. Separate GRANT statements are required for ORDERS and ORDER_ITEMS tables.
Answer: D

Explanation:

References:
http://docs.oracle.com/javadb/10.8.3.0/ref/rrefsqljgrant.html

NEW QUESTION 110
View the Exhibit and examine the structure of the EMP table which is not partitioned and not an index-organized table. (Choose two.)

EMP

Name Null? Type

EMPNO NOT NULL NUMBER (4)
FIRST NAME VARCHAR?2 (20)
LAST NAME VARCHAR?2
SALARY NUMBER (10, 2)
DEPTNO NUMBER (2)

Evaluate this SQL statement: ALTER TABLE emp
DROP COLUMN first_name; Which two statements are true?

A. The FIRST_NAME column can be dropped even if it is part of a composite PRIMARY KEY provided the CASCADE option is added to the SQL statement.
B. The FIRST_NAME column would be dropped provided at least one column remains in the table.

C. The FIRST_NAME column would be dropped provided it does not contain any data.

D. The drop of the FIRST_NAME column can be rolled back provided the SET UNUSED option is added to the SQL statement.

Answer: B

NEW QUESTION 111
View the Exhibits and examine PRODUCTS and SALES tables. Exhibit 1

Name Nl [Tpe
PROD_ID W
PROD NAME VARCHAR? (50)

PROD_DESC NOT NULL VARCHAR?2 (4000)

PROD_CATEGORY NOT NULL VARCHAR2 (50)

PROD_UNIT OF MEASURE || VARCHARIG0)

Exhibit 2
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QLA}.“I'ITY_SDLD NOT NULL

You issue the following query to display product name the number of times the product has been sold:
SOL>SELECT p.prod name, 1.1item cnt

FROM (SELECT prod 1id, COUNT(*) item cnt

TS A A [

o DAL =TT N S

GROUP BY prod 1d) I RIGHT OUTER JOIN products p
ON 1.prod i1d = p.prod id;

What happens when the above statement is executed?

A. The statement executes successfully and produces the required output.

B. The statement produces an error because a subquery in the FROM clause and outer-joins cannot be used together.
C. The statement produces an error because the GROUP BY clause cannot be used in a subquery in the FROM clause.
D. The statement produces an error because ITEM_CNT cannot be displayed in the outer query.

Answer: A

NEW QUESTION 114

Evaluate the following statement. INSERT ALL

WHEN order_total < 10000 THEN INTO small_orders

WHEN order_total > 10000 AND order_total < 20000 THEN INTO medium_orders

WHEN order_total > 200000 THEN INTO large_orders

SELECT order_id, order_total, customer_id FROM orders;

Which statement is true regarding the evaluation of rows returned by the subquery in the INSERT statement?

A. Each row is evaluated by the first WHEN clause and if the condition is false then the row would be evaluated by the subsequent when clauses.
B. All rows are evaluated by all the three WHEN clauses.

C. Each row is evaluated by the first WHEN clause and if the condition is true, then the row would be evaluated by the subsequent when clauses.
D. The INSERT statement will return an error because the ELSE clause is missing.

Answer: B

NEW QUESTION 119

Which statement is true about an inner join specified in the WHERE clause of a query?

A. It must have primary-key and foreign-key constraints defined on the columns used in the join condition.
B. It requires the column names to be the same in all tables used for the join conditions.

C. It is applicable for equijoin and nonequijoin conditions.

D. It is applicable for only equijoin conditions.

Answer: C

NEW QUESTION 122
View the Exhibit and examine the structure of the ORDERS table. The ORDER_ID column is the PRIMARY KEY in the ORDERS table.
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Table CUSTOME RS
Tirpeo
[ NUMBERIS) |
CUST_FIRST NAME  [woT nuiL | vilRCHARZ(I0)
TIMES TAMPy8) CUST_LAST NAME  [nOT NuLL | vARCHARI(20}
[WATHLOCALTIMEZONE UST CUST ADDRESS TYP
VWARC HARZI] wnd PHONE_NUMBEHRS PHONE_LIST_TYP
MLE_LANGUAGE VBRCHARD(3)
e e e
CREDIT_LIMIT NUMBER{Y.7)
NUMBERB) [CUST EMAIL VARC HARZ(30)
NUMBERB) ACCOUNT_MGR_ID WUMBERM) |
CUST GED_LOCATION MDSYS 500 GEOMETRY
HTH DATE
MARITAL STATUS VIBLHE AR 30
[ GENGER VARCHARI(1)
VARCHARI{I0
PRODUCT MAME VARCHARDS0) |
FRODUCT DESCIPTION VARG AR 2000)
CATEGORY 1D WUMBER{T)
(WEIGHT_CLASS NUMBER(T)
WARMANTY _PERIOD INTERVALYEART)
TOMONTH
[SUFFLIER_ID NUMBER{S)
PRODUCT STATUS VARCHARNIO)
LiST_PRICE NUMBER(E T)
(MiW_PRICE UM
CATALOG, URL VIRRC HARCTS0)

SYS XMLTYPE
VARCHARZ(IS)

L1
MDSYS SD0_GEOMETRY]

Evaluate the following CREATE TABLE command:

CREATE TABLE new_orders(ord_id, ord_date DEFAULT SYSDATE, cus_id) AS
SELECT order_id.order_date,customer_id FROM orders;

Which statement is true regarding the above command?

A. The NEW_ODRDERS table would not get created because the DEFAULT value cannot be specified in the column definition.

B. The NEW_ODRDERS table would get created and only the NOT NULL constraint defined on the specified columns would be passed to the new table.

C. The NEW_ODRDERS table would not get created because the column names in the CREATE TABLE command and the SELECT clause do not match.

D. The NEW_ODRDERS table would get created and all the constraints defined on the specified columns in the ORDERS table would be passed to the new table.

Answer: B

NEW QUESTION 126

View the Exhibit and examine the structure of CUSTOMERS table.

Using the CUSTOMERS table, you need to generate a report that shows an increase in the credit limit by 15% for all customers. Customers whose credit limit has
not been entered should have the message "Not Available" displayed.

Which SQL statement would produce the required result?

NOT NULL. m
__ I NOTNULLINUMBER

cusr:cnsmﬂuun
CUST EMAIL

A. SELECT NVL (TO CHAR(cust_credit_limit * .15), '‘Not Available') "NEW CREDIT"FROM customers;
B. SELECT TO_CHAR (NVL(cust_credit_limit * .15), '‘Not Available") "NEW CREDIT"FROM customers;
C. SELECT NVL(cust_credit_limit * .15), 'Not Available’) "NEW CREDIT"FROM customers;

D. SELECT NVL(cust_credit_limit), 'Not Available') "NEW CREDIT"FROM customers;

Answer: A

NEW QUESTION 127

The first DROP operation is performed on PRODUCTS table using the following command: DROP TABLE products PURGE;

Then you performed the FLASHBACK operation by using the following command: FLASHBACK TABLE products TO BEFORE DROP;
Which statement describes the outcome of the FLASHBACK command?

A. It recovers only the table structure.

B. It recovers the table structure, data, and the indexes.

C. It recovers the table structure and data but not the related indexes.

D. Itis not possible to recover the table structure, data, or the related indexes.
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Answer: D

Explanation:
References:
https://docs.oracle.com/cd/B19306_01/server.102/b14200/statements_9003.htm

NEW QUESTION 129
Examine the structure of the SALES table. (Choose two.)

NAME NULL? TYPE

PRODUCT _ID NOT NULL NUMBER(10)
CUSTOMER_ID NOT NULL VARCHAR2(10)
TIME_ID NOT NULL DATE
CHANNEL_ID NOT NULL NUMBER(5)
PROMO_ID NOT NULL NUMBER(5)
QUANTITY_SOLD NOT NULL NUMBER(10, 2)
PRICE NUMBER(10, 2)
AMOUNT _SOLD NOT NULL NUMBER(10, 2)

Examine this statement:

SQL > CREATE TABLE salesl (prod_id, cust_id, quantity_sold, price) AS
SELECT product_id, customer_id, quantity_sold, price FROM sales
WHERE 1 = 2;

Which two statements are true about the SALES1 table?

A. It will not be created because the column-specified names in the SELECT and CREATE TABLE clauses do not match.
B. It will have NOT NULL constraints on the selected columns which had those constraints in the SALES table.

C. It will not be created because of the invalid WHERE clause.

D. It is created with no rows.

E. It has PRIMARY KEY and UNIQUE constraints on the selected columns which had those constraints in the SALES table.

Answer: BD

NEW QUESTION 132
View the Exhibit and examine the data in the PRODUCT_INFORMATION table.

PRODUCT_INFORMATION

PDT_ID SUP_ID PDT_STATUS |LIST_PRICE MIN_PRICE
1797 102094 orderable 349 288

2254 102071 obsolete 453 371

2382 102050 under development |850 731

2459 102099 under development 699 568

3127 102087 orderable 498 e

3353 102071 obsolete 489 413

3354 102066 orderable 543 478

Which two tasks would require subqueries? (Choose two.)

A. displaying all the products whose minimum list prices are more than average list price of products having the status orderable
B. displaying the total number of products supplied by supplier 102071 and having product status OBSOLETE

C. displaying the number of products whose list prices are more than the average list price

D. displaying all supplier IDs whose average list price is more than 500

E. displaying the minimum list price for each product status

Answer: AC

NEW QUESTION 135
Which two statements are true regarding subqueries? (Choose two.)

A. A subquery can appear on either side of a comparison operator.

B. Only two subqueries can be placed at one level.

C. A subquery can retrieve zero or more rows.

D. A subquery can be used only in SQL query statements.

E. There is no limit on the number of subquery levels in the WHERE clause of a SELECT statement.

Answer: AC

NEW QUESTION 137
Examine the structure of the CUSTOMERS table: (Choose two.)
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NAME NULL? TYPE

CUSTNO NOT NULL NUMBER(3)
CUSTNAME NOT NULL VARCHAR2(25)
CUSTADDRESS VARCHAR2(35)
CUST_CREDIT_LIMIT NUMBER(5)

CUSTNO is the PRIMARY KEY.
You must determine if any customers' details have been entered more than once using a different CUSTNO, by listing all duplicate names.
Which two methods can you use to get the required result?

A. Subquery

B. Self-join

C. Full outer-join with self-join
D. Left outer-join with self-join
E. Right outer-join with self-join

Answer: AB

NEW QUESTION 142
View the Exhibit and examine the structure in the EMPLOYEES tables.

HR

Narmw [ Ty
OrPARTMENT_ID BT UL L FMUIMEE F(e)

DEFARTMENT_MAME [ NOT MULL [VARCHARZ(30) ATRECT_ADDRESS W B HLA S 3 )
REA N ACE W D FLTRARLE == J POATAL_CoOOE | PeaRchaRE
: ey _ VARC HARS(30)
BTATE PROWVINCE § 2 JVARCHARIIS)
/'I'\ COUNTHY_ID CHARD)
: '\‘*"
oy | ) Type 1 P T T H
EMPLOYE I'_H_:l__ MOT RLLL HLERANU ) }__ = -__!Z_':"lil-.bil'.:r_:__l'_li_ - - WWLNlIHHFH{g_
HTANT_DATE |FOTRULCL | GATE = FIRST_MAME —_ |ancharzmoy Hainrte CTE Type
et Dl TR T —— CABT_WAME — |WOT MULL | VRRGCHARTIA EOUNTAY 6 W& ML | AR
oW [0 SrHLL 1 5% | EMEAM. MOT MULL [vARCHARZZS = == COUNTRY NAME | VAR HAMS0)
DEPARTMENT_ID  PHONE NUMBER __ -! E-EI -"".i I.! IR ":-'.. reae el R
HIRE_BATE '\.,*,-'
BALANY ‘ i
ol b coMMingon ror L ThuMnEREa | .
it - MANAGER 1D MLIMERE Fs) -
AU TITLE "R DEPARTHMENT 1D Fulladed L E Frfa) ___I_!l"‘__ld_' s Pdusll > -r-.,-p:_
Wik, SALARY UGB [ IECIOMN IO NOT WULL | A BER )
AR _SALARY OB HECHOHN SN W RS MR {40 )

Evaluate the following SQL statement: SELECT employee_id, department_id FROM employees
WHERE department_id= 50 ORDER BY department_id UNION

SELECT employee_id, department_id FROM employees

WHERE department_id=90 UNION

SELECT employee_id, department_id

FROM employees

WHERE department_id=10;

What would be the outcome of the above SQL statement?

A. The statement would not execute because the positional notation instead of the column name should be used with the ORDER BY clause.

B. The statement would execute successfully and display all the rows in the ascending order of DEPARTMENT _ID.

C. The statement would execute successfully but it will ignore the ORDER BY clause and display the rows in random order.

D. The statement would not execute because the ORDER BY clause should appear only at the end of the SQL statement, that is, in the last SELECT statement.

Answer: D

NEW QUESTION 143
Which statement is true about Data Manipulation Language (DML)?

A. DML automatically disables foreign ley constraints when modifying primary key values in the parent table.

B. Each DML statement forms a transaction by default.

C. A transaction can consist of one or more DML statements.

D. DML disables foreign key constraints when deleting primary key values in the parent table, only when the ON DELETE CASCADE option is set for the foreign
key constraint.

Answer: C

NEW QUESTION 147

View the exhibit and examine the data in ORDERS_MASTER and MONTHLY_ORDERS tables.
ORDERS _MASTER ORDER_ID ORDER_TOTAL
1

1000

2

2000

3

3000

4

MONTHLY_ORDERS ORDER_ID ORDER_TOTAL
2
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2500

3

Evaluate the following MERGE statement: MERGE_INTO orders_master o

USING monthly_orders m ON (o.order_id = m.order_id) WHEN MATCHED THEN

UPDATE SET o.order_total = m.order_total DELETE WHERE (m.order_total IS NULL) WHEN NOT MATCHED THEN
INSERT VALUES (m.order_id, m.order_total)

What would be the outcome of the above statement?

A. The ORDERS_MASTER table would contain the ORDER_IDs 1, 2, 3 and 4.
B. The ORDERS_MASTER table would contain the ORDER_IDs 1, 2 and 4.
C. The ORDERS_MASTER table would contain the ORDER_IDs 1, 2 and 3.
D. The ORDERS_ MASTER table would contain the ORDER_IDs 1 and 2.

Answer: B

Explanation:
References:
https://docs.oracle.com/cd/B28359 01/server.111/b28286/statements_9016.htm

NEW QUESTION 152
Which statement is true regarding external tables?

A. The CREATE TABLE AS SELECT statement can be used to upload data into regular table in the database from an external table.
B. The data and metadata for an external table are stored outside the database.

C. The default REJECT LIMIT for external tables is UNLIMITED.

D. ORACLE_LOADER and ORACLE_DATAPUMP have exactly the same functionality when used with an external table.

Answer: A
Explanation:

References:
https://docs.oracle.com/cd/B28359 01/server.111/b28310/tables013.htm

NEW QUESTION 156
View the Exhibit and examine the structure of ORDERS and CUSTOMERS tables. (Choose the best answer.)

Table CUSTOMERS
gma_ﬁm e
[ N
NUMBER)
WOT WuULL [NUMBER(T) CUST_FRST NAME IOt NULL | VARCHARN Y}

WOT NULL [ TIMES TAMPyS) CUST_LAST NAME _ InOT NULL] VARCHAR2(20)
[WATHLOCALTIMEZONE [ = 5% CUST ADDRESS TYP
VARCHARIE] = e PHONE_NUMBERS PHONE_LIST TYP

MLE_LANGUAGE VARCHARZ(3}
NUMBER(2) NLS TE RN TORY WILFEC HASLT 30
NUMBERIS 2) CREDIT_LMIm NUKBE R 7)
NUMBER{E) CUST_EMAIL WARCHARZ(30) |
NUMBEHIB) ACCOUNT_MOR_ID MU BE Ry

CUST_GED_LOCATION WOSYS.500 GEOMETRY

(GATE OF_BIRTH DATE

MARTAL STATUS i B HA R )

[ GENDER WARCHARZ{1)

(INCOME_LEVEL VARCHARIID

PRODUCT_NAME
PRODUCT_DESC P 1ION

CATEGORY 1D NUMBER{Z)
WEIGHT_CLASS NUMBER(1)
WARIANTY _PEIIOD INTERVALYEAR(T) }--
TOMONTH NOT NULL
[SLFPLIER_ID NUMBERS) NOT NULL
rm;m:ct_l.unn VARCHA R0
LIST_PRaCE NUMEE
WiN_PRICE mu_ngmgm
CATALOG_URL VARG HARIS0)

1 A
et ‘et

SYS XMLTYPE
VAHCHARZ(3S)

L]
MOSYS SD0_GEOMETRY]

You executed this UPDATE statement: UPDATE

( SELECT order_date, order_total, customer_id FROM orders) Set order_date = '22-mar-2007'

WHERE customer _id IN

(SELECT customer_id FROM customers

WHERE cust_last_name = 'Roberts' AND credit_limit = 600); Which statement is true regarding the execution?

A. It would not execute because a subquery cannot be used in the WHERE clause of an UPDATE statement.
B. It would not execute because two tables cannot be referenced in a single UPDATE statement.

C. It would execute and restrict modifications to the columns specified in the SELECT statement.

D. It would not execute because a SELECT statement cannot be used in place of a table name.

Answer: C
NEW QUESTION 158

Examine the structure of the MEMBERS table: NameNull?Type
MEMBER_IDNOT NULLVARCHARZ2 (6)

FIRST_NAMEVARCHARZ2 (50)
LAST_NAMENOT NULLVARCHARZ2 (50)
ADDRESSVARCHAR?2 (50)

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 1Z0-071 dumps
@ 2 PQSS@QSU https://www.2passeasy.com/dumps/120-071/ (187 New Questions)

You execute the SQL statement:
SQL > SELECT member_id, ' ", first_name, "', last_name "ID FIRSTNAME LASTNAME " FROM members;
What is the outcome?

A. It fails because the alias name specified after the column names is invalid.

B. It fails because the space specified in single quotation marks after the first two column names is invalid.

C. It executes successfully and displays the column details in a single column with only the alias column heading.

D. It executes successfully and displays the column details in three separate columns and replaces only the last column heading with the alias.

Answer: D

NEW QUESTION 162
View the Exhibit and examine the structure of the ORDERS table. (Choose the best answer.)

Table CUSTOMERS
Tipes
NUMBERIS) |
CUST FIRST MNAME NOTNULLIVARCHARDD] |
TIMES TaMP{S) CUST LAST NAME  INOT NULL|VARCHARI(20) |
WAITHLOCAL TIMEZONE UST CUST _ADORESS TYP
VARC HARZ(I] aad PHONE_NUMBERS PHONE_LIST TYP
NLE_LANGUAGE WARCHARZ(3)
NUMBER ) [WLE, TERITORY WARC
NUMBER(B.T) CREDIT_LIMIT WUMBE RS 7]
NUMBER) [EUST EMAIL VARCHARZ{M)
NUMBER(G) ACCOUNT_MGR_ID WUIMBE R
CUST_GEO_LOCATION MOSYS S00_GEOMETRY
M DATE
MARITAL_STATUS VILRC AR 30}
[ GENDER WVARCHARI(1)
INCOME_LEVEL WARCHARI( IO
PRODUCT NAME VARCHARZS0) |
FRODUCT DESCIPTION VARG AR 2000)
CATEGORY 1D NUMBER(T)
(WEIGHT CLASS NUMBER(1)
WIARHANTY _PERIOD INTERVALYEARCT)
TOMONTH
(SUPPLIER_ID NUMBER(S)
[PRODUCT_STATUS VARCHARTI0)
LIST_PRaCE NUMBER(S I}
(WiN_PROCE NUM
CATALDG_URL VRRCHARSS0) | . — Nult?
NTITY_OM_HAND | NOT NULL] NUMBERSS) EEHOUSE_ SYS KMLTYPE
WARE MOUSE NAME VARCHARS)
LOCATION _ID LI BE FE (4}
WH_GED_LOCATION] MOSYS S00_GEOMETRY]

You must select ORDER_ID and ORDER_DATE for all orders that were placed after the last order placed by CUSTOMER_ID 101.
Which query would give you the desired result?

A. SELECT order_id, order_date FROM ordersWHERE order_date > ANY(SELECT order_date FROM orders WHERE customer_id = 101);

B. SELECT order_id, order_date FROM ordersWHERE order_date > ALL(SELECT MAX(order_date) FROM orders ) AND customer_id = 101,
C. SELECT order_id, order_date FROM ordersWHERE order_date > ALL(SELECT order_date FROM orders WHERE customer_id = 101);

D. SELECT order_id, order_date FROM ordersWHERE order_date > IN(SELECT order_date FROM orders WHERE customer_id = 101);

Answer: C

NEW QUESTION 163
Examine the structure of the BOOKS_TRANSACTIONS table:

Name Null? Type
TRANSACTION ID NOT NULL VARCHARZ (0)
BORROWED DATE DATE

DUE DATE DATE

BOOK ID VARCHARZ (06)
MEMBER ID VARCHARZ (06)

You want to display the member IDs, due date, and late fee as $2 for all transactions. Which SQL statement must you execute?
A. SELECT member_id AS MEMBER_ID, due_date AS DUE_DATE, $2 AS LATE_FEE FROM BOOKS_TRANSACTIONS;

B. SELECT member_id 'MEMBER ID', due_date 'DUE DATE', '$2 AS LATE FEE' FROM BOOKS_TRANSACTIONS;

C. SELECT member_id AS "MEMBER ID", due_date AS "DUE DATE", '$2' AS "LATE FEE" FROM BOOKS_TRANSACTIONS;
D. SELECT member_id AS "MEMBER ID", due_date AS "DUE DATE", $2 AS "LATE FEE" FROM BOOKS_TRANSACTIONS;

Answer: C

NEW QUESTION 168
Which two statements are true regarding single row functions? (Choose two.)

A. MOD : returns the quotient of a division.
B. TRUNC : can be used with NUMBER and DATE values.
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C. CONCAT : can be used to combine any number of values.

D. SYSDATE : returns the database server current date and time.

E. INSTR : can be used to find only the first occurrence of a character in a string.
F. TRIM : can be used to remove all the occurrences of a character from a string.

Answer: BD

NEW QUESTION 171

Evaluate the following two queries: SQL> SELECT cust_last_name, cust_city FROM customers
WHERE cust_credit_limit IN (1000, 2000, 3000); SQL> SELECT cust_last_name, cust_city
FROM customers

WHERE cust_credit_limit = 1000 or cust_credit_limit = 2000 or cust_credit_limit = 3000

Which statement is true regarding the above two queries?

A. Performance would improve in query 2 only if there are null values in the CUST_CREDIT_LIMIT column.
B. There would be no change in performance.

C. Performance would degrade in query 2.

D. Performance would improve in query 2.

Answer: B

Explanation:
References:
http://oraclexpert.com/restricting-and-sorting-data/

NEW QUESTION 172

Using the CUSTOMERS table, you need to generate a report that shows 50% of each credit amount in each income level. The report should NOT show any
repeated credit amounts in each income level.

Which query would give the required result?

A. SELECT cust_income_level || * ' || cust_credit_limit * 0.50 AS “50% Credit Limit” FROM customers.

B. SELECT DISTINCT cust_income_level || * ’ || cust_credit_limit * 0.50 AS “50% Credit Limit” FROM customers.

C. SELECT DISTINCT cust_income_level, DISTINCT cust_credit_limit * 0.50 AS “50% Credit Limit” FROM customers.
D. SELECT cust_income_level, DISTINCT cust_credit_limit * 0.50 AS “50% Credit Limit” FROM customers

Answer: B

NEW QUESTION 174

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 1Z0-071 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/120-071/ (187 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual 1Z0-071 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
170-071 Product From:

https:/lwww.2passeasy.com/dumps/1Z0-071/

Money Back Guarantee

1Z0-071 Practice Exam Features:

* 170-071 Questions and Answers Updated Frequently
* 170-071 Practice Questions Verified by Expert Senior Certified Staff
* 170-071 Most Realistic Questions that Guarantee you a Pass on Your FirstTry

* 170-071 Practice Test Questionsin Multiple Choice Formats and Updatesfor 1 Y ear

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com


http://www.tcpdf.org

